ON COMPLEX WEYL-HLAVATÝ CONNECTIONS

By Kentaro Yano and Sumio Sawaki

§0. Introduction.

To generalize results in conformal Riemannian geometry to those in Kaehlerian geometry, one of the present authors introduced in [4] what he calls a complex conformal connection in a Kaehlerian manifold. In this study, a curvature tensor introduced by Bochner [1] plays the rôle of the conformal curvature tensor of Weyl.

It is well known that the so-called Weyl-Hlavatý connection, that is, a linear connection D without torsion such that $\nabla_k g_{ji} = -2p_k g_{ji}$, p_k being a covector field, plays an important rôle in conformal Riemannian geometry, [5].

The main purpose of the present paper is to introduce a complex analogue of Weyl-Hlavatý connection in a Kaehlerian manifold and study its properties.

In 1, we state some preliminaries on Kaehlerian geometry and on the Bochner curvature tensor and in 2 we introduce what we call a complex Weyl-Hlavatý connection. 3 is devoted to the study of the curvature tensor of a complex Weyl-Hlavatý connection. Using the results obtained in 3, we prove our main theorem in 4.

§ 1. Preliminaries.

We consider a Kaehlerian manifold M of real n dimensions $(n \ge 4)$ covered by a system of coordinate neighborhoods $\{U; x^h\}$ and denote by g_{ji} and F_i^h components of the Hermitian metric tensor and those of the almost complex structure tensor of M respectively, where and in the sequel the indices h, i, j, \cdots run over the range $\{1, 2, \cdots, n\}$.

Then we have

(1.1)
$$F_i^t F_t^h = -\delta_i^h, \qquad F_j^t F_i^s g_{ts} = g_{ji}$$

and

(1.2)
$$\nabla_k g_{ii} = 0, \quad \nabla_k F_i^h = 0, \quad \nabla_k F_{ii} = 0,$$

where V_{k} denotes the operator of covariant differentiation with respect to the

Received April 2, 1976

Christoffel symbols $\binom{h}{j}$ formed with g_{ji} and $F_{ji} = F_j g_{ii}$, and consequently $F_{ji} = -F_{ij}$.

We denote by K_{kji}^{h} , K_{ji} and K the curvature tensor, the Ricci tensor and the scalar curvature of M respectively. It is well known that these tensors satisfy

(1.3)
$$K_{kjt}{}^{h}F_{t}{}^{t}-K_{kjt}{}^{t}F_{t}{}^{h}=0, \qquad K_{kjt}{}^{h}+K_{kjt}{}^{s}F_{t}{}^{t}F_{s}{}^{h}=0,$$

(1.4)
$$K_{kjit}F_{h}^{t}-K_{kjht}F_{i}^{t}=0, \quad K_{kjih}-K_{kjts}F_{i}^{t}F_{h}^{s}=0,$$

(1.5)
$$K_{i}{}^{t}F_{t}{}^{h}-F_{i}{}^{t}K_{t}{}^{h}=0, \qquad K_{i}{}^{h}+K_{t}{}^{s}F_{i}{}^{t}F_{s}{}^{h}=0$$

and

(1.6)
$$K_{jt}F_{i}^{t}+K_{it}F_{j}^{t}=0, \quad K_{ji}-K_{ts}F_{j}^{t}F_{i}^{s}=0,$$

where $K_{kjih} = K_{kji}{}^{t}g_{th}$ and $K_{i}{}^{h} = K_{it}g^{th}$, g^{th} being contravariant components of g_{ji} . We define $H_{i}{}^{h}$ by

(1.7)
$$2H_i{}^h = -K_{kji}{}^h F^{kj},$$

where $F^{kj} = g^{kt} F_t^{j}$. We then have

(1.8)
$$2H_{ih} = -K_{tsih}F^{ts} = -K_{ihts}F^{ts}$$

where $H_{ih} = H_i^t g_{th}$, H_{ih} being skew-symmetric.

The relations between K_{ji} and H_{ji} are given by

(1.9)
$$K_{ji} = H_{jt} F_i^t, \quad H_{ji} = -K_{jt} F_i^t.$$

The Bochner curvature tensor (Bochner [1], Tachibana [2], Yano and Bochner [3]) is given by

(1.10)
$$B_{kji}{}^{h} = K_{kji}{}^{h} + \delta_{k}^{h}L_{ji} - \delta_{j}^{h}L_{ki} + L_{k}{}^{h}g_{ji} - L_{j}{}^{h}g_{ki} + F_{k}{}^{h}M_{ji} - F_{j}{}^{h}M_{ki} + M_{k}{}^{h}F_{ji} - M_{j}{}^{h}F_{ki} - 2(M_{kj}F_{i}{}^{h} + F_{kj}M_{i}{}^{h}),$$

where

(1.11)
$$L_{ji} = -\frac{1}{n+4} K_{ji} + \frac{1}{2(n+2)(n+4)} Kg_{ji},$$

(1.12)
$$M_{ji} = -L_{jt} F_i^{t}$$

that is,

(1.13)
$$M_{ji} = -\frac{1}{n+4}H_{ji} + \frac{1}{2(n+2)(n+4)}KF_{ji}$$

and

(1.14)
$$L_k^h = L_{kt} g^{th}, \quad M_k^h = M_{kt} g^{th}.$$

Since H_{ji} and F_{ji} are both skew-symmetric, so is also M_{ji} .

§ 2. Complex Weyl-Hlavatý connections.

We consider an affine connection D with torsion in a Kaehlerian manifold M and denote by Γ_{ji}^{h} the components of the connection D and by D, the operator of covariant differentiation with respect to Γ_{ji}^{h} .

If the affine connection D satisfies

$$(2.1) D_k g_{ji} = -2p_k g_{ji}$$

(2.2)
$$D_k F_{ji} = -2p_k F_{ji}$$
 (or $D_k F_j^h = 0$),

(2.3)
$$\Gamma_{ii}^{h} - \Gamma_{ij}^{h} = -2F_{ii}q^{h}$$

for a certain non-zero covector field p_k and a vector field q^h , then we call D a complex Weyl-Hlavatý connection.

First of all, solving (2.1) and (2.3) with respect to Γ_{ji}^{h} , we find

(2.4)
$$\Gamma_{ji}^{h} = \left\{ {}_{j}^{h} {}_{i} \right\} + \delta_{j}^{h} p_{i} + \delta_{i}^{h} p_{j} - g_{ji} p^{h} + F_{j}^{h} q_{i} + F_{i}^{h} q_{j} - F_{ji} q^{h} ,$$

where $p^{h} = p_{i}g^{th}$ and $q_{i} = q^{t}g_{ti}$. Next we compute $D_{k}F_{ji}$ using (2.4). We then obtain

$$D_{k}F_{ji} = -2p_{k}F_{ji} - g_{kj}(p_{i}F_{i}^{t} + q_{i}) + g_{ki}(p_{i}F_{j}^{t} + q_{j}) + F_{kj}(p_{i} - q_{i}F_{i}^{t}) - F_{ki}(p_{j} - q_{i}F_{j}^{t}),$$

from which, using (2.2),

$$g_{kj}(p_{t}F_{i}^{t}+q_{i})-g_{ki}(p_{t}F_{j}^{t}+q_{j}) -F_{kj}(p_{i}-q_{t}F_{i}^{t})+F_{ki}(p_{j}-q_{t}F_{j}^{t})=0.$$

Transvecting this equation with g^{kj} , we find

$$(n-2)(p_t F_i^t + q_i) = 0$$
,

from which

(2.5) $q_i = -p_t F_i^{\ t}, \quad p_i = q_t F_i^{\ t}.$

Conversely, as is easily seen, the Γ_{ji}^{h} given by (2.4) where p_{i} and q_{i} are related by $q_{i} = -p_{t}F_{i}^{t}$ satisfy (2.1), (2.2) and (2.3).

Thus we have

PROPOSITION 2.1. In a Kaehlerian manifold M with Hermitian metric tensor g_{ji} and the almost complex structure tensor F_i^h , a complex Weyl-Hlavatý connection is given by (2.4) where $q_i = -p_t F_i^t$.

§ 3. Curvature tensor of a complex Weyl-Hlavatý connection.

We consider a complex Weyl-Hlavatý connection Γ_{ji}^{h} in a Kaehlerian manifold M and compute the curvature tensor of Γ_{ji}^{h} :

$$(3.1) R_{kji}{}^{h} = \partial_{k}\Gamma_{ji}^{h} - \partial_{j}\Gamma_{ki}^{h} + \Gamma_{ki}^{h}\Gamma_{ji}^{i} - \Gamma_{ji}^{h}\Gamma_{ki}^{i}, (\partial_{k} = \partial/\partial x^{k}).$$

By straightforward computation, we find

(3.2)
$$R_{kji}{}^{h} = K_{kji}{}^{h} - \delta_{k}^{h} p_{ji} + \delta_{j}^{h} p_{ki} - p_{k}{}^{h} g_{ji} + p_{j}{}^{h} g_{ki} - F_{k}{}^{h} q_{ji} + F_{j}{}^{h} q_{ki} - q_{k}{}^{h} F_{ji} + q_{j}{}^{h} F_{ki} - \alpha_{kj} F_{i}{}^{h} - F_{kj} \beta_{i}{}^{h} + (\nabla_{k} p_{j} - \nabla_{j} P_{k}) \delta_{i}^{h},$$

where

(3.3)
$$p_{ji} = \nabla_j p_i - p_j p_i + q_j q_i + -\frac{1}{2} \lambda g_{ji}$$

(3.4)
$$q_{ji} = \nabla_j q_i - p_j q_i - q_j p_i + \frac{1}{2} \lambda F_{ji},$$

 λ being defined by $\lambda = p_i p^i = q_i q^i$,

(3.5)
$$\alpha_{ji} = -(\nabla_j q_i - \nabla_i q_j),$$

$$\beta_{ji} = 2(p_j q_i - q_j p_i)$$

and $p_k^h = p_{kl} g^{lh}$, $q_k^h = q_{kl} g^{lh}$, $\beta_{ih} = \beta_i^l g_{lh}$. We can easily check that $h_{ih} = q_{ih}$ and

We can easily check that p_{ji} , q_{ji} and α_{ji} are related by

(3.7)
$$p_{ji} = q_{ji} F_i^{\ t}, \qquad q_{ji} = -p_{ji} F_i^{\ t},$$

(3.8)
$$\alpha_{ji} = -(q_{ji} - q_{ij} - \lambda F_{ji}).$$

We now assume that the holonomy group of the connection D is that of dilatations, that is, we have equations of the form $R_{kji}{}^{\hbar} = \nu_{kj} \delta_i^{\hbar}$, ν_{kj} being a 2-form. Then from (3.2) we find

$$(3.9) R_{kji}{}^{h} = (\nabla_{k}p_{j} - \nabla_{j}p_{k})\delta_{i}^{h}.$$

Consequently (3.2) becomes

(3.10)
$$K_{kji}{}^{\hbar} - \delta^{\hbar}_{k} p_{ji} + \delta^{\hbar}_{j} p_{ki} - p_{k}{}^{\hbar} g_{ji} + p_{j}{}^{\hbar} g_{ki} - F_{k}{}^{\hbar} q_{ji} + F_{j}{}^{\hbar} q_{ki} - q_{k}{}^{\hbar} F_{ji} + q_{j}{}^{\hbar} F_{ki} - \alpha_{kj} F_{i}{}^{\hbar} - F_{kj} \beta_{i}{}^{\hbar} = 0$$

or, in covariant form,

(3.11)
$$K_{kjih} = g_{kh} p_{ji} - g_{jh} p_{ki} + p_{kh} g_{ji} - p_{jh} g_{ki} + F_{kh} q_{ji} - F_{jh} q_{ki} + q_{kh} F_{ji} - q_{jh} F_{ki} + \alpha_{kj} F_{ih} + F_{kj} \beta_{ih} .$$

Transvecting (3.11) with g^{kh} and using (3.7), we find

KENTARO YANO AND SUMIO SAWAKI

(3.12)
$$K_{ji} = (n-1)p_{ji} + pg_{ji} - F_j^{\ i}q_{ii} + qF_{ji} + \alpha_{ij}F_i^{\ i} + F_{ij}\beta_i^{\ i}$$

where $p = g^{ji} p_{ji}$ and $q = g^{ji} q_{ji} = g^{ji} \nabla_j q_i$.

Transvecting (3.11) with F^{ih} and making use of (3.7), we obtain

(3.13)
$$K_{kjts}F^{ts} = -4(q_{kj} - q_{jk}) + n\alpha_{kj} + F_{kj}F^{ts}\beta_{ts},$$

from which, using (1.8), (3.8) and $F^{ts}\beta_{ts}=4\lambda$, we have

(3.14)
$$H_{kj} = \frac{n+4}{2} (q_{kj} - q_{jk} - \lambda F_{kj}).$$

Transvecting (3.12) with $-F_{\hbar}$ ⁱ and using the second equation of (1.9) and (3.7), we find

$$H_{jh} = (n-1)q_{jh} + pF_{jh} + F_j^{t}p_{th} - qq_{jh} - \alpha_{jh} - F_{tj}F_h^{s}\beta_s^{t},$$

from which, making use of (3.8) and the equation

$$F_{tj}F_{h}{}^{s}\beta_{s}{}^{t} = 2F_{tj}F_{h}{}^{s}(p_{s}q^{t} - q_{s}p^{t}) = 2(p_{j}q_{h} - q_{j}p_{h}) = \beta_{jh},$$

we have

$$(3.15) H_{ji} = nq_{ji} - q_{ij} + pF_{ji} + F_{j}^{t}p_{ti} - qg_{ji} - \lambda F_{ji} - \beta_{ji} \,.$$

Transvecting (3.12) with g^{ji} and making use of $F^{ts}q_{ts}=p$, $\alpha_{ts}F^{ts}=n\lambda-2p$ and $\beta_{ts}F^{ts}=4\lambda$, we find

(3.16)
$$K = 2(n+1)p - (n+4)\lambda$$
.

Transvecting (3.14) with F^{kj} , we have

(3.17)
$$K = (n+4)p - \frac{1}{2}n(n+4)\lambda$$

From (3.16) and (3.17), we find

(3.18)
$$\lambda = p_i p^i = -\frac{K}{(n+2)(n+4)}.$$

Now, transvecting (3.12) with $F_t^{j}F_s^{i}$, we have

$$F_t{}^jF_s{}^iK_{ji} = -(n-1)F_t{}^iq_{is} + pq_{ts} + p_{ts} + qF_{ts} - F_t{}^i\alpha_{si} + F_t{}^i\beta_{is},$$

or, using the second equation of (1.6),

$$K_{ji} = -(n-1)F_{j}^{t}q_{ii} + pg_{ji} + p_{ji} + qF_{ji} - F_{j}^{t}\alpha_{ii} + F_{j}^{t}\beta_{ii}.$$

Thus comparing (3.12) with this equation, we find

(3.19)
$$0 = (n-2)p_{ji} + (n-2)F_j^t q_{ti} + \alpha_{tj}F_i^t + F_j^t \alpha_{it},$$

from which, using (3.8),

(3.20)
$$(n-1)(p_{ji}+F_j^t q_{ii})-(p_{ij}+F_i^t q_{ij})=0.$$

From (3.20) and

$$(n-1)(p_{ij}+F_i^t q_{ij})-(p_{ji}+F_j^t q_{ii})=0$$

which is equivalent to (3.20), we obtain

$$p_{ji} + F_{j}^{t} q_{ti} = 0$$
,

or

(3.21)
$$p_{ji} = -F_j^t q_{ti}, \qquad q_{ji} = F_j^t p_{ti}.$$

Thus, (3.15) can be written as

(3.22)
$$H_{ji} = (n+1)q_{ji} - q_{ij} + pF_{ji} - qg_{ji} - \lambda F_{ji} - \beta_{ji}.$$

But, H_{ji} being skew-symmetric, we have from (3.22)

$$0 = (n+1)(q_{ji}+q_{ij})-(q_{ji}+q_{ij})-2qg_{ji}$$
,

from which

(3.23)
$$q_{ji} = \frac{2}{n} q g_{ji} - q_{ij}.$$

Substituting (3.23) into (3.14), we find

$$H_{kj} = \frac{n+4}{2} \left(\frac{2}{n} qg_{kj} - 2q_{jk} - \lambda F_{kj} \right),$$

from which

$$q_{ji} = \frac{1}{n} q g_{ji} + \frac{1}{2} \lambda F_{ji} + \frac{1}{n+4} H_{ji},$$

or, using (3.18),

(3.24)
$$q_{ji} = \frac{1}{n} q g_{ji} - M_{ji} \,.$$

From (3.7) and (3.24), we have

(3.25)
$$p_{ji} = -\frac{1}{n} q F_{ji} - L_{ji} \,.$$

Substituting (3.24) into (3.8), we find

$$\alpha_{ji} = 2M_{ji} + \lambda F_{ji} \,.$$

On the other hand, we have from (3.22)

$$\beta_{ji} = (n+1)q_{ji} - q_{ij} + pF_{ji} - qg_{ji} - \lambda F_{ji} - H_{ji}$$
,

from which, substituting (3.24) we find

377

KENTARO YANO AND SUMIO SAWAKI

378 (3.27)

$$\beta_{ji} = -(n+2)M_{ji} + (p-\lambda)F_{ji} - H_{ji}.$$

But, (3.17) shows that

$$p - \lambda = \frac{1}{n+4} K + \frac{n-2}{2} \lambda$$

and consequently we can write (3.27) in the form

$$\beta_{ji} = -(n+2)M_{ji} + \left(\frac{1}{n+4}K + \frac{n-2}{2}\lambda\right)F_{ji} - H_{ji},$$

or, using (1.13) and (3.18),

$$\beta_{ji} = 2M_{ji} - \lambda F_{ji}.$$

§4. Theorems

In this last section, we prove the following two theorems.

THEOREM 4.1. Let M be a real n-dimensional Kaehlerian manifold, $(n \ge 4)$. If M admits a complex Weyl-Hlavatý connection such that its holonomy group is that of dilatations, then the Bochner curvature tensor of M vanishes.

Proof. Substituting (3.24), (3.25), (3.26) and (3.28) into (3.10), we obtain

$$K_{kji}{}^{h} = -\delta_{k}{}^{h}L_{ji} + \delta_{j}{}^{h}L_{ki} - L_{k}{}^{h}g_{ji} + L_{j}{}^{h}g_{ki}$$
$$-F_{k}{}^{h}M_{ji} + F_{j}{}^{h}M_{ki} - M_{k}{}^{h}F_{ji} + M_{j}{}^{h}F_{ki} + 2(M_{kj}F_{i}{}^{h} + F_{kj}M_{i}{}^{h}),$$

that is

 $B_{kji}^{h}=0$.

THEOREM 4.2. Let M be a real n-dimensional Kaehlerian manifold, $(n \ge 4)$. If one of the following conditions is satisfied, then there does not exist a complex Weyl-Hlavatý connection such that its holonomy group is that of dilatations.

- (1) M is compact,
- (2) The scalar curvature K is non-negative,
- (3) $K_{ji}K^{ji} = constant$.

Proof. (1) From (3.6) and (3.28), we have

$$p_{j}q_{i}-p_{i}q_{j}=M_{ji}-rac{\lambda}{2}F_{ji}$$
 ,

or, using (1.12) and (3.18)

(4.1)
$$p_{j}p_{i}+F_{j}^{t}F_{i}^{s}p_{t}p_{s}-\frac{1}{(n+2)(n+4)}Kg_{ji}+\frac{1}{n+4}K_{ji}=0.$$

On the other hand, from (3.3) and (3.25), we have

$$\nabla_{j}p_{i} = p_{j}p_{i} - F_{j}^{t}F_{i}^{s}p_{t}p_{s} - \frac{1}{2}\lambda g_{ji} - \frac{1}{n}qF_{ji} - L_{ji}$$

or taking account of (3.18),

(4.2)
$$\nabla_{j} p_{i} = p_{j} p_{i} - F_{j}^{t} F_{i}^{s} p_{t} p_{s} - \frac{1}{n} q F_{ji} + \frac{1}{n+4} K_{ji} .$$

Eliminating $p_j p_i$ from (4.1) and (4.2), we obtain

(4.3)
$$\nabla_{j} p_{i} = -2F_{j}^{t} F_{i}^{s} p_{i} p_{s} - \frac{1}{n} q F_{ji} + \frac{1}{(n+2)(n+4)} K g_{ji} .$$

By covariant differentiation, we have from (3.18)

(4.4)
$$2p^{i}\nabla_{j}p_{i} + \frac{1}{(n+2)(n+4)}\nabla_{j}K = 0$$

Thus substituting (4.3) into (4.4), we find

$$2p^{i} \left[-2F_{j}^{i}F_{i}^{s}p_{i}p_{s} - \frac{1}{n}qF_{ji} + \frac{1}{(n+2)(n+4)}Kg_{ji} \right] \\ + \frac{1}{(n+2)(n+4)}V_{j}K = 0,$$

•

or

(4.5)
$$-\frac{2}{n}qp^{i}F_{ji}+\frac{2}{(n+2)(n+4)}Kp_{j}+\frac{1}{(n+2)(n+4)}\nabla_{j}K=0,$$

from which, transvecting with p^{j} ,

$$2Kp_jp^j + p^j \nabla_j K = 0$$
,

or, taking account of (3.18),

(4.6)
$$\frac{2}{(n+2)(n+4)} K^2 - p^j \nabla_j K = 0$$

Consequently, by Green's theorem, we have

(4.7)
$$\int_{M} \left[\frac{2}{(n+2)(n+4)} K^{2} + K \overline{V}_{j} p^{j} \right] dV = 0,$$

dV denoting the volume element of M. But (4.2) shows that

$$\nabla_{j}p^{j} = \frac{1}{n+4}K.$$

Thus (4.7) becomes

$$\int_{M} \left[\frac{2}{(n+2)(n+4)} K^{2} + \frac{1}{n+4} K^{2} \right] dV = 0,$$

from which it follows that K=0 and consequently, from (3.18), we have $p_i=0$.

- (2) (3.18) shows that if $K \ge 0$, then $p_i = 0$.
- (3) Transvecting (4.1) with $p^{j}p^{i}$, we have

$$p_{j}p^{j}p_{i}p^{i} - \frac{1}{(n+2)(n+4)}Kp_{i}p^{i} + \frac{1}{n+4}p^{j}p^{i}K_{ji} = 0$$

or, using (3.18)

(4.8) $p^{j}p^{i}K_{ji} = -\frac{2K^{2}}{(n+2)^{2}(n+4)}.$

Transvecting (4.1) with K^{ji} and using the second equation of (1.6), we have

$$2p_{j}p_{i}K^{ji} - \frac{K^{2}}{(n+2)(n+4)} + \frac{1}{n+4}K_{ji}K^{ji} = 0.$$

Substituting (4.8) into this equation, we find

$$K_{ji}K^{ji} = \frac{n+6}{(n+2)^2}K^2$$

from which it follows that K = constant by virtue of the assumption $K_{ji}K^{ji} = \text{constant}$.

Thus, from (4.6), we have K=0 and consequently, from (3.18), we find $p_i=0$.

BIBLIOGRAPHY

- [1] S. BOCHNER, Curvature and Betti numbers, II, Ann. of Math., 50 (1949), 77-94.
- [2] S. TACHIBANA, On the Bochner curvature tensor, Natural Science Report, Ochanomizu Univ., 18 (1967), 15-19.
- [3] K. YANO AND S. BOCHNER, Curvature and Betti numbers, Ann. of Math. Studies, 32 (1953), Princeton Univ. Press.
- [4] K. YANO, On complex conformal connections, Ködai Math. Sem. Rep., 26 (1975), 137-151.
- [5] K. YANO, Sur la connexion de Weyl-Hlavatý et ses applications à la géométrie conforme, Proc. Physico-Math. Soc. Japan, 22 (1940), 595-621.

Tokyo Institute of Technology and Niigata University.

380